270 Numeri¢ka rjesenja zadataka

2
720 4-K7

~b-h=76,531cm®, ys =0, z;=3833cm, I, =1, =356,2 cm®,

; :R4n_ﬁ

=1480,5cm*, I, =1, =1536,5cm*, 1 =0, ¢, =0

723 A=964115cm*, ys=0, zg=0,6534cm,, [, =1,—A-z{ =1246 cm* =1,
1.=1,=1287cm* =1, p,=0°

724 A=30863cm’, yg =496 cm,zs=0, I, =1, =116,691 cm®,
I,=1,=87175cm*, I =0, ¢, =0°.

725 A=49416 cm’, ys=0,7285 cm, zs=1,6864 cm, I, =294,8763 cm’,
1. =5981813 cm', I =-114,7092 cm®, I, =636,678cm*, I, =25638cm",
Po=-18,552°.

726 1,=928cm*, I =43047cm’, I =-469,48cm*, ¢, =31,04°,
I, =1210,55 cm®, I, =147,92 cm*.

727 Iz priruénika za profil [ NP180: 4, =28 cm’, e,= 1,92 cm, I, =1350 cm®,
I, =114cm" »

3 2 2 3
I=2\1,+ ﬂm.b.(ﬂj JL=2|| 1, + 4, 1+ev] A
: 12 2 ‘ 2 12

I,=1.=7036 cm®, d=14,09 cm.
728 Iz prirugnika za profil [ NP160: 4, = 24 cm’, e,= 1,84 cm, ,, =925 cm’,
I,=853cm*, by =6,5cm. 4 =24, +bh=96cm’.

3 2 3
1,=1,=21, +%:2874cm4, I, =2-{12l + 4, -(§+eyj }%,

I,
I.=1,=742,07cm*, W, =—2-=359,25cm’, i, =2,78 cm,
Y 0,5h
1 ;.
W, =————=9276cm’, i, =5,47 cm.
0,56+ b,

8 LANCANICE

81  f=245m, Spax=Fa=Fa=1681 N, Fy=1633 N, ¢ =¢pp=13,76°.
8.2 F,=67I5 N, F3 =6679N, F.=F, =6667 N, ¢, =6,843°, ¢, =3,434°.
83 q=36,12N/m, f=29,024 m, S = Fa = Fg= 1520N, F}; =471,5 N,

P\ =@y =7193°.

84 q=5374N/m,a=25,714m, Fl; =9870 N, S;.x = Fg = 10041 N, ¢ = 10,57°,
FA=9967 N, ps = 8°.



